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2. GMAT {EXEH A7
GMATSEXEEEX, E—BR2—/1 RIS (Analysis of an Issue) ; FZBIEX
B—/MBiBE 947 (Analysis of an Argument) . BRIEXEE 30 9%, miEkE— et
Bikink, RIFCBEIARERGEAR—ITERNUNOEREBCHUS. FELITEE
MR, EXMEBLEFE “HFEER” AI5. REZBHRFHEZNEOELNAEMS, H
EHEM EFBIRECHNEE. TEAR—ERENEASITER:

“People often complain that products are not made to last. They feel that making products that wear out
fairly quickly wastes both natural and human resources. What they fail to see, however, is that such
manufacturing practices keep costs down for the consumer and stimulate demand.”

Which do you find more compelling: the complaint about products that do not last or the response to it?
Explain your position using relevant reasons and/or examples drawn from your own experience,

observations, or reading.
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WMAREIZE, XKFEHNERNARATE, FF. FRbR, F-REXRILL, FZRIEX
BXit. THR—EBEERAS T EM:

The following appeared as part of an article ina daily newspaper.

“The computerized onboard warning system that will be installed in commercial airliners will virtually
solve the problem of midair plane collisions. One plane’s warning system can receive signals from
another’s transponder--a radio set that signals a plane’s course--in order to determine the likelihood of a

collision and recommend evasive action.”

. 259068



Discuss how well reasoned. . . erc.

3. GMAT{EXXEEREABR?

EEEERENE, GMAT EXMEREEHBEUTENHRRALHT . BIBAIAL,
ETS ) GMAT £iXERLBAH T RIECEHTER 1404, ZBEMHHER 13910 (AAE
HEE) . wHEY, GEXFLSINEAERRNX 279 MEEPENMBLOFHER. T
2, BERER—FFL, FEBIMNTHEOAETES .

EEFIENR, BEFHEEI—REEEAESEN HTEIBIHEHR. REF4A
FHEES, REW GMAT £RERLBAT . FERFESNEXALALREE. FEFH
KB, (EXBERSHEEED.

4. GMAT {EXWAAEFITH?

GMAT EXERFXR—I—ABEERENHIE, EBREXEAHSERI—SBRAEN
R, AEBEH—MIISEZMEXEINAE. FTFEEXRIE, BRSNAEERERLAE
MEBRTEBNGH. FH. BEXEZ. ATFHKESTER. XBRASEAMUELNIER. B
B, HEZIFEESEEX LM EEX LERE, BRAE 23 44, FAEXTFHEMRER
BXEMHMEAX. Biit, E5ERGRFLERNS LEFRHFKRS. KIFAZIE, MEEZSH
EELVIEE MO YA REIR.

GMAT EXBIT R A E LR EZR. (RNE—BEXERMI 52 B hF0 A RKAY 74 J0 3L 49T
7, MERBEXHNEIARIAMEISNFHE. EELEERENEXRERE—T, XHER
RIEXAHNESHBTY. GMAT (EXHIES A 65, 8 05 SA—IMIHER, tEEHHR
FIEAE. B, ROE—BEXHBEMNMESR 5 2% 6 9, FZEEXHBMESHTR 3
7, BLREREXRSEHAR 45 9. B, NRIFHNE—FREXHBMESER 59, ¥
“REXHBEMNMEISEHR 45, BARNEXERBSIER 455,

EE, RBMEX S EARITEE Quantitative 1 Verbal Z [, MEREFRFPOEREFGEME
HRFRE R FENER.

5. GMAT fEXXRIESFRERMT AT
GMAT BBEXEIEMTES B T:

(W)ZIAERIE2 4T (Analysis of an Issue )

Outstanding
HEGHNERMENSITERLEN: BESHEYUSHENES.
—EURBGRASANERE CUAFEE SRR MEERF/SAIREN
R =l
— G EMA
— X TIES (BEARAMDESHYN) AREFNEE
— XEXLHIRESEEONE (855, EEMBSAN) , B

RESH IR



<%

E] Strong
HEGNERMEERSNSHN, RIFLEETAUSHENER.

—— @R A T R A 1A 2 A 1 YIRS B
EABEM

—ES (BERRAMAESHE) ARIFNERE
BRI EROEPERBONE, BURFNER

@ Adequate

MBHERMFE—ENSN, WEENERF-ENERIE.
— AT A BT RE R 5 B IR KRV IR R A/ B
FHEXRGE
—EE (BFERRMAE F—ERE, BAZIRZZHE
— M FEBERENAERT —EEE, BE-LHIR

B] Limited
MEAERME LS, MEENBERHE—LEIR, BHERARRE,
— MR R & T F4FIEF B —IRE /LI

— RRRHT TS

5L ALV

FETZEHSWEEXAIERKES)

—EBEFNERB/SRATFRZSHN

—#EE. RESHELBREFEEHRUERNER

Seriously Flawed
ESTESERD ERAETERFE, —RRETIFHEPH—TEL
Iﬁ:

— S RRRERERTRIF

—EXGEHAF

——RZHEXAIEHNEH

— EEEERANATEMLEE HIFERR

—&EE. AESHELERRS, PRXERE

Fundamentally Deficient
ESTHESERTT LHRAMHRIE, —REE TIHEA—IRE/LR:

— A TR RUR 5/

—HIES A TS ETEE mEER

—&iIFE. BESH S EAEXREHIR, FEXRXERE

0] 8. FHESH. EPERZ



KR &%

(2) BIBIEVESHT ( Analysis of Argument)

E] Outstanding
FHEER TG RR S, BEEM, FREBEENEHSENER.
— BRI IS E B EF R B BN S
— @AM EBRRNFNSEY, NAZBEFEERTE
BN IIFECHEENS
—iEEEK (BFERRMNAESHEME
RERLIF BB P EERIFRIAE, BRAHER

Strong
HEER RS ENFEH, MBUSENERFRIFNEE.

REBE IR LRI T BHHE, SR ARE
— @R SER, BB, URZEBESMTE
REBSENMTHAECHEEUR

—3EE (BERRAMESHN) NERELRRY
RERIFHE BRI E P EREMME, BRAKER

E] Adequate

IR — /TN, MEENERE—TERIEE.
RERX HIIE R EFAFIE, FHMELSHT

— MR ERIBRKGEE, BRZIE
REXIFECHEERR

—MHEER—EMEE, EEFERREAUS
—RAFSTEPARENIE, BH LR

B] Limited
FLESEIMEXENRD, MNEENERF—LERE, BXSEHE
giR, —MEAATINFEN—FHET£:

—BAMNEIERAT, BREMESITICIEN XIS EBIFE

—FESMREFLLXNEBE, HiLiRTE

— IRV IBEN

FREAMHXIFACHEENS

—RIEARE

—H&EEE. AP E LBEFEHIRNEE LI/ i

EJ Seriously Flawed
FERZHSMELENSIERTT, —REE TINHEN—KABEFT&:
4



RAEMESIERTIBES, MERBAIEEESHISERSROENEL
— kEERITACHNE, SSIERAEN, RTiBEY

——ER TR RS A EIEMISIE

— B AR TN LSS A ERIR

—#iEE. FEANHE HERRE, BWENHRE

[] Fundamentally Deficient
RESEMMAXENRIBART, RETIHFHEPH—FIHETFF:
— R Z BB ICIERRED
—RZERAMSRIGEN
— EEERATFEM LR EEE
—HEE. BZEHELEXERIR, FEXMEXMRIE

o] mMEE. FFESHE. ENEEZ

NR| B#



¥-F fIxsH

1. B3E i B35

“People often complain that products are not made to last. They feet that making products that
wear out fairly quickly wastes both natural and human resources. What they fail to see, however, is
that such manufacturing practices keep costs down for the consumer and stimulate demqnd. 4

Which do you find more compelling the complaint about products that do not list or the response to

it? Explain your position using relevant reasons and/or examples drawn from your own experience,

observations, or reading.

6. SHEIL:

Many people fell that products are not made to last, and correspondingly, many natural and human
resources are wasted. On the other hand, it can be noted that such manufacturing practices keep costs
down and hence stimulate demand. In this discussion, I shall present arguments favoring the former
statement and refuting the latter statement.

Products that are not made to last waste a great deal of natural and human resources. The exact
amount of wasted natural resources depends on the specific product. For example in the automobile
industry, the Yugo is the classic example of an underpriced vehicle that was not made to last.
Considering that the average Yugo had (not “has” since they are no longer produced! ) a life
expectancy of two years and 25, 000 miles, it was a terrible waste.

Automobile industry’standards today create vehicles that are warrantied for about five years and 50,
000 miles. By producing cheap Yugos that last less than half as long as most cars are warrantied, the
Yugo producer is wasting valuable natural resources. These same resources could be used by Ford or
Toyota to produce an Escort or Tercel that will last twice as long, thereby reducing the usage of natural
resources by a factor of two.

Human resources in this example are also wasteful. On the production side, manufacturers of a poor
quality automobile, like the Yugo, get no personal or profession satisfaction from the fact that their
product is the worst automobile in the United States. This knowledge adversely affects the productivity
of the Yugo workers.

Conversely, the workers at the Saturn plants constantly receive positive feedback on their successful
products. Saturn prides itself with its reputation for quality and innovation as is seen in its recent

massive recall to fix a defect. This recall was handled so well that Saturn's image was actually bolstered.

Had a recall occurred at a Yugo plant, the bad situation would have become even worse.

Another factor in the human resources area is the reaction by the consumer. A great deal of human
resources have been wasted by Yugo owners waiting for the dreaded tow truck to show up to haul away
the Yugo carcass. Any vehicle owner who is uncertain of his/her vehicle's performance at 7 AM as
he/she is about to drive to work, senses a great deal of despair. This is a great waste of human
resources for the consumer.

s



While the consumer senses the waste of natural and human resources in a poor quality product, so
does the manufacturer. People who argue that low quality manufacturing processes keep costs low for
the consumer and hence stimulate demand should look at the Yugo example. In the mid-1998’s the
Yugo was by far the cheapest car in the United States at $ 3995. By 1991, the Yugo was no longer sold

here and was synonymous with the word “lemon.”
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4. EX:

I find the response to the complaint more compelling. Although the complaint is valid, it is most
often the case the building a product to last forever will indeed cost more than the average consumer is
willing to pay. Creating such a product would require more materials and/or more heavy-duty wear
resistant materials which inherently are more expensive. Another factor that would drive costs up is the
fact that demand for products would decrease. The demand would decrease since people do not have to
replace old products with new products as often. With the increased variable costs for materials
combined with a reduction in the production volume associated with lower demand, manufacturers
must raise prices to break even or maintain the current level of profits.

Although a few producers may make products to last, it is understandable how these companies can
be driven out of existence. If a new competitor enters the market with a similar product that has a

.



shorter life but a substantially lower price, then they will probably steal major portions of the other
company's market share. The effects depend heavily upon the consumer’s perception of quality and
what the customers requirements from the product actually are. "

For example, consumers may decide between two types of automobiles. One car may be built to last
a long time but may not have the performance or be as comfortable as another car that is cheaper. So
most consumers would purchase the cheaper car even though it may not last-as long as the heavy-duty
car. Consumers may not realize that the more expensive car is of higher quality in the sense that it will
last longer and will not be willing to pay the extra cost.

Consumer decisions also depend on what consumers are actually looking for in a product.
Consumers typically get tired of driving the same car for many years and want to buy new cars fairly
often. This tendency forces producers to keep costs low enough to allow low enough prices for people
to buy cars often. People don’t want cars to last forever.

In conclusion, producers are in the situation that they're in due to external forces from the
consumers. Producers must compete and they have found the best way satisfy the majority of the

consumers.
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2. HEX:

1 find the response better than the complaint of people. The response seems to originate without
much thought involved. It is more of an emotional complaint than one anchored in logic or thought.
Yes, it is a waste of human resources but that is without consideration to the benefits: lower costs and
stimulated demand. Thus, the response fails to recognize the benefits.
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The strength of the response is that it forces the reader to reconsider the complaint. It adds a new

dimension to the argument. It, however, fails to address the issue of wasting human resources. Does
this mean the responder agrees with the notion of wasting resources.

In all actuality both the response and complaint as ineffective. The complaint doesn’t recognize or

address the benefits, like the response doesn’t address the issue of wasting resources. The response,
however, does bring in a new dimension and thus weakens the argument of the complaint.

ZXRFEECHILE ARGRBELEEFHAMACSSEZNEE. ZXBRARF
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2. B3R 5 Hr BI3C

The following appeared as fart of an article in a daily newspaper.

“The computerized onboard warning system that will be installed in commercial airliners will
virtually solve the problem of midair plane collisions. One plane’s warning system can receive
signals from another’s transponder--a radio set that signals a plane’s course--in order to determine

the likelihood of a collision and recommend evasive action.”

Discuss how well reasoned you find this argument. In your discussion be sure to analyze the
line of reasoning and the use of evidence in the argument. For example, you may need to consider
what questionable assumptions underlie the thinking and what alternative, explanations or
counterexamples might weaken the conclusion. You can also discuss what sort of evidence would
strengthen or refute the argument, what changes in the argument would make it more logically sound,

and what, if anything, would help you better evaluate its conclusion.

6. MEX:

The argument that this warning system will virtually solve the problem of midair plane
collisions omits some important concerns that be addressed to substantiate the argument. The
statement that follows the description of what this warning system will do simply describes the
system and how it operates. This alone does not constitute a logical argument in favor of the warning
system, and it certainly does not provide support or proof of the main argument.

Most conspicuously, the argument does not address the cause of the problem of air plane
collisions, the use of the system by pilots and flight specialists, or who is involved in the midair plane
collisions. First, the argument assumes that the cause of the problem is that the planes’ courses, the
likelihood of collisions, and actions to avoid collisions are unknown or inaccurate. But if the cause of
the problem of midair plane collisions is that pilots are not paying attention to their computer systems
or flight operations, the warning system will not solve the collision problem. Second, the argument
never addresses the interface between individuals and the system and how this will affect the warning
system’s objective of obliterating the problem of collisions. If the pilot or flight specialist doés not

9



conform to what the warning systeni suggests, air collisions will not be avoided. Finally, if plane:
other than commercial airliners are involved in the collisions, the problem of these collisions canno
be solved by a warning system that will not be installed on non-commercial airliners. The argumen'
also does not address what would happen in the event that the warning system collapsed, falls, oi
does not work properly.

Because the argument leaves out several key issues, it is not sound or persuasive. If it included
the items discussed above instead of solely explaining what the system supposedly does, the

argument would have been more thorough and convincing.
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4. HEX: : 3

The argument is not logically convincihg. It does not state whether all planes can receive signals
from each other. It does not state whether planes constantly receive signals. If they only receive signals
once every certain time interval, collisions will not definitely be prevented. Further if they receive a
signal right before they are about to crash, they cannot avoid each other.

The main flaw in the argument is that it assumes that the two planes, upon receiving each other’s
signals, will know which evasive action to take. For example, the two planes could be going towards
each other and then receive the signals. If one turns at an angle to the left and the other turns at an angle
to the right, the two planes will still crash, Even if they receive an updated signal, they will not have
time, to avoid each other. A

- The following argument would be more sound and persuasive. The new warning system will solve
the problem of midair plane collisions. Each plane will receive constant, continual signals from each
other. If the two planes are headed in a direction where they will crash, the system will coordinate the

-signals and tell one plane to go one way, and the other plane to go another way. The new system will
ensure that the two planes will turn in different directions so they don’t crash by trying to prevent the
Qriginal crash. In addition, the planes will be able to see themselves and the other on a computer screen,
to aid in the evasive action.

10
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2. HEX

This argument has no information about air collisions. I think most cases happen is new airports
because the air traffic is heavy. In this case sound airport control could solve the problem.

I think this argument is logically reasonable. Its assumption is that plane collisions are caused by
planes that don’t know each others positions. So pilots can do nothing, if they know each, other’s
position through the system it will solve the problem. If it can provide evidence the problem is lack of
knowledge of each other’s positions, it will be more sound and persuasive.

More information about air collisions is helpful, (the reason for air collisions)
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I. Analysis of Issue Questions
1. “In some countries, television and radio programs are carefully censored for offensive language and
behavior. In other countries, there is little or no censorship.” In your view, to what extent should
government or any other group be able to censor television or radio programs? Explain, giving
relevant reasons and/or examples to support your position.

2. “Itis unrealistic to expect individual nations to make, independently, the sacrifices necessary to
conserve energy. International leadership and worldwide cooperation are essential if we expect to
protect the world’s energy resources for future generations.” Discuss the extent to which you agree
or disagree with the opinion stated above. Support your views with reasons and/or examples from

your own experience, observations, or reading.

3. “Corporations and other businesses should try to eliminate the many ranks and salary grades that
classify employees according to their experience and expertise. A ‘flat’ organizational structure is
more likely to encourage collegiality and cooperation among employees.” Discuss the extent to
which you agree or disagree with the opinion stated above. Support your views with reasons

and/or examples from your own experience, observations, or reading.

4. “Of all the manifestations * of power, restraint in the use of that power impresses people most.”
* manifestations: apparent signs or indicators Explain what you think this quotation means and
discuss the extent to which you agree or disagree with it. Developtyour position with reasons
and/or specific examples drawn from history, current events, or your own experience, observations,

or reading.

5. “All groups and organizations should function as teams in which everyone makes decisions and
shares responsibilities and duties. Giving one person central authority and responsibility for a
project or task is not an effective way to get work done.” To what extent do you agree or

disagree with the opinion expressed above? Support your views with reasons and/or
specific examples drawn from your own work or school experiences, your observations, or your

reading.

6. “There is only one definition of success--to be able to spend your life in your own way.” To what
extent do you agree or disagree with this definition of success? Support your position by using
reasons and examples from your reading, your own experience, or your observation of others.

7. “The best way to give advice to other people is to find out what they want and then advise them how
to attain it.” Discuss the extent to which you agree or disagree with the opinion expressed above.
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